MAT 100, Final Exam, Spring

Instructions: Show all work.
all parts of each problem.
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4. Find the effective rate for 3.6% compounded

a. Daily (4 points
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5. Ifyoutake out a mortgage of $250,000 with a 30-year term, at P .8% interest,

a. How much are|your monthly payments? (8 points)

N =360
I=2.%

Pv:= 230,000
PMT = jo2.7.[24

Fv:=oO
By=-<v= 12

K [027.2

b. How much interest do you pay back by the time the loan is paid off? (5 points)

V02724 % 360 = 361, 806.40
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6. Use Fleury's Algori}hm on the graph below to find an Euler circuit (or path). List the vertices you
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10. Find the redundan

cy of the graph below. (5 points)
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11. Use Kruskal’s Algorithm to find the hiEhest value minimum spanning tree. Be sure to state the

weight of the final|tree. (10 points)
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12. Use the following preference schedule to find the winner of th*election using the indicated

method.
18 12 10 9 | 4 | |2
Alen  Evert. | Davis Baker Chids Chidss

Baker Chids| Evert Davis Evert~ Davis

Chids Baker | Childs Ghitds Baker Bakes

Davis Davis | Baker Evet Davis Evet

Evert Alen | Alen Allen Allen Allen

a. Borda Count Method (10 points)
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s Board needs to allocate 50 “floating” pollworkers to various communities
to troubleshoot problems that arise. The communities and their registered
s are noted in the table below. Use the tables to apportion the pollworkers to
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14. The table of 20 math test scores is shown below. Find the indicated statistics.

78 75 76 71 88 80 74 70 78 75
65 81 84 72 76 68 79 73 44 99
a. Mean and mode (if it exists). (4 points)
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d. Draw a box plot of the data (to scale). (6 points)
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15. A card is drawn from a standard deck.
What is the probability the first card drawn is a jack? (3 points)

a.

4 L
52.- B

b. What is the probability of drawing a spade, and then another spade (without replacement)?

(4 points)
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16. How many outcomes are possible in the following scenarios?
A password is 12 characters long, is case sensitive and numbers can be used. How many
such passwords are possible? (5 points)

d.
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. b. A board of directors has 17 members. How many ways can they elect a slate of four officers
(president, vice president, treasurer, and secretary)? (5 points)

|2P4 = SFH 12O

c. The math department selects 5 faculty members to serve o? a special committee. How
many different committees are possible if there are 28 faculty in the department? (5 points)

235 = 78,280

17. A charity raffle sells 375 tickets at a cost of $8 each. They give ?way the following prizes: 1 first-
place prize worth $2500, 1 second-place prize worth $700, 2 third-place prizes worth $150, and
5 fourth-place prizes worth $20. Find the expected value of pulichasing a ticket. (8 points)
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18. A geometric series is defined by Py = 3Py_4, Py = 8. Find the#um of the first 50 terms. (6 points)
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19. Find a formula for the sequence 12,21,30,39,... Then use thé formula to find P,5. (8 points)

stmﬁzjafm»o A, =12 A=9 |
A = (249N Cesfz 2t9(s)= 23%F

&_L% aFnzt Q=12 4=

Bp = (2+4(n-0) = 318
Azs = S'I-FC?»S')’ 228
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23. Apply the Koch snowflake replacement rule to the ?ides of the pentagon shown below for three

IR

stages. [Recall:

(10 points)




Some useful formu
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